Greek Language

FJCL State Forum 2019

VOCABULARY
1. Bapug

A. deep B. wide C.low D. heavy
2. €x0pog

A. exit B. enemy C. elegant D. enthralled
3. vouilw

A. legislate, outlaw B. give a name C. kill, murder D. consider, think
4. xwpa

A. task, assignment B. choir C. countryside D. burden
5.1n60U¢

A. pleasant, glad B. heavy, bulky C. powerful, strong D. strange, unfamiliar
6. OpoLOG

A. similar, like B. man, person C. sound D. knowing, belief
7. wdEAeLa

A. worthy B. pleasant, glad C. capable, able D. help, aid
8. BeAtiwv

A. broad B. better C. belt D. believable
9. aipéw

A. deliver B. withhold C. take, capture D. announce, speak aloud
10. mapa

A. in front of B. at the side of C. behind D. beyond
11. twn

A. time B. wreath C. fear D. honor
12. KAEMTTW

A. conceal B. bring together C. steal D. call
13. 6®pov

A. gift B. rainbow C. gold D. food
14. €€vocg

A. sword B. guest-friend C. spear D. wreath
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15. kpatog

A. strength, power B. vessel, vase C. monster D. clear, visible
16. 6fAog

A. strength, power B. fear C. gift D. clear, visible
17. d\nBela

A. freedom B. ability C. truth D. forgetting
18. vailic

A. island B. sea C.voyage D. ship
19. xpuoog

A. cold B. gold C.old D. bold
20. dxovw

A. hear B. sharpen C. make a sound D. call
GRAMMAR

21. What is the dative of Anpoo6évng?
A. AnpooBével B. AnpocBévnot C. AnpooBévn D. AnpooBévoug

22. Place the correct accent on the genitive of avBpwmnocg.
A. avBpwmnod B. avBplmou C. avBpwrou D. avBpwmou

23. What is the superlative of maAaidg?
A. moAaioowog B. naAaiotepog C. maAaitepog D. maAaitatog

24. Parse neion (from neibw).
A. 3rd singular, imperfect indicative active
B. 3rd singular, aorist subjunctive active
C. 2nd person singular, aorist imperative active
D. 3rd singular, aorist subjunctive passive

25. What kind of accusative is being used in the phrase ¢ avBpwmnog to nodov aAyel?
A. manner B. with a verb of swearing
C. respect D. result

26. What is the case, number, and gender of ayopaic?
A. dative plural feminine B. accusative plural feminine
C. accusative singular neuter D. genitive plural neuter
27. Parse yéypada (from ypadw).
A. 3rd singular, perfect indicative active
B. 3rd singular, imperfect indicative middle/passive
C. 1st singular, perfect indicative active
D. 3rd singular, pluperfect indicative active
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28. The preposition mpo takes what case(s)?

A. genitive B. accusative C. genitive and accusative D. dative

29. What constitutes the principal parts of a verb?

A. present indicative active, future indicative active, imperfect indicative active, perfect
subjunctive active, perfect indicative passive, aorist indicative passive

B. present indicative active, future indicative active, aorist indicative active, perfect
indicative active, perfect indicative passive, aorist indicative passive

C. present indicative active, future indicative passive, imperfect indicative active, perfect
optative active, pluperfect indicative passive, aorist indicative passive

D. present indicative active, present subjunctive active, aorist indicative active, perfect
indicative active, perfect indicative passive, aorist indicative middle

30. Translate: EAAjvwv nipopaxolivteg ABnvatiolt MapaBivi xpucodopwv MnAdwv éotdpecav SUvaLy.
A. The power of the Greeks, with the Athenians fighting in front, scattered the gold-bearing
Medes at Marathon.
B. The Athenians, fighting in front of the Greeks of Marathon, scattered the power of the
gold-bearing Medes.

C. The power of the Greeks, fighting in front of the Athenians at Marathon, scattered the
gold-bearing Medes.

D. The Athenians, fighting in front among the Greeks at Marathon, scattered the power of the
gold-bearing Medes.

31. The previous sentence is an epigraph by Simonides. What kind of genitive is xpucodopwv
Mndwv?
A. partitive B. quality C. possession D. cause

32.In the same sentence, what kind of dative is MapaB®&vi?
A. place B. indirect object  C. means D. cause

33. Make 0 pUAa§ into accusative plural.
A. Toug dpuAdakoug B. toug dpUuAakag C. ToU¢ pulagoug D. touc¢ puAalacg

34. Which verb is a deponent?
A. BoUAopat B. keAevopal C. pavbavopat D. $Bavopat

35. Make the following sentence into future more vivid: i dyyelov népdat 6 Bac\eug, ol otpatnyol
TV HAXNV AV TTAUCALEV.

A. el ayyelov mepn o BactAeuc, ol oTpatnyol THV Haxnv av malcoouaoLy.

B. éav ayyehov nepn 6 Bacthelc, ol oTPATNYOL TAV LAXNY TAUCOUGLV.

C. €av ayyelov mepdat 6 Bacthelc, ol oTPATNYOL TAV LAXNV TTAUCALEV.

D. €l Gyyehov nEumel 6 BaoAelg, ol oTpatnyol TV Haxnv av mavovtal.
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36. Parse nmoAtevecBal (from moAtevw).
A. 3rd plural, aorist indicative middle/passive
B. 2nd plural, aorist subjunctive middle/passive
C. perfect infinitive active
D. present infinitive middle/passive

37. Change énaibeve into aorist.
A. énaibevos B. énaibe C. énabeloel D. énaibevoa

38. What type of dative is used in the sentence t® a5eAd® 500 BLBAia Av?
A. reference B. possessor C. personal agent  D.respect

39. Parse Unijp€ev (from UMdpyxw).
A. 3rd plural, imperfect indicative active
B. 3rd singular, imperfect indicative active
C. 3rd singular, aorist indicative active
D. 3rd singular, aorist subjunctive active

40. Translate vikwpévwy TV ABnvaiwy, 0 BapBapwv BactAeug tv paxnv nadoat o0k fBeAev
A. With the Athenians being vanquished, the king of the barbarians was not wanting to stop
the battle.
B. With the barbarians being vanquished, the king of the Athenians did not want to stop the
battle.
C. The king of the barbarians having conquered the Athenians, he wanted to stop the battle.
D. Not stopping the battle, the king of the barbarians wanted to conquer the Athenians.
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READING COMPREHENSION. For questions 41-50, refer to the following passage, adapted from
Aesop Aesopica 184: “The Donkey and the Cicada.”

1 "Ovog akoloag Pwviig TETTLYOG NOEWG AUTH ETETEPTIETO, KAl TOV

2 TETTya Emnpwta Aéywv “Tic dpa o0tw yAukelav ool TpEdel

3 Vv dwvnv;” 6 6€ TETTLE TM Ovw AvtEdnoev “n Eun Tpodn anp €ott

4 kal 6p600oc.” 6 6€ 6vog TouTou dkouaoag Tol PrUATOC EVOULOE

5 uéBodov evpnkévat St NS SOV TG TETTLYL oX0in pwvAV" KAl TO

6 otopa e0OUG avoifag HOVwG PO TOV Agpa €kAeioBato wg de€Opuevog

7 &iBev Spdoov eic Slatpodrv, Ewe ol TA AU StedBapn.

8 0UToC 6 HiBoc Snhot 8t ol ST TVaL T BUCLKA TOTC Tapd GUGLY

9 ¢é€opololv Kal Tolg AduvatoLs APPOVWG ETIXELPETV.

Vocabulary Help:

[1] 6vog: donkey [7] iatpodn: sustenance and support
tétti: cicada €wg: until, til
ETITEPTIOMOL: Tejoice Awéc: hunger

[2] énepwtdw: consult, inquire of SladBeipw: destroy utterly
Tpédw: rear, cause to grow, tend to [8] &nAot: contraction of 6nAdel

[3] dvtidnuu: contradict [9] é€opoldw: become like, assimilate
tpodn: nourishment, food aduvartog: impossible
anp: air éruxelpéw: set to work at, attempt

[4] 6poooc: dew

[6] eLBUG: straightaway, at once
AvolyvuuL: open
6éxoual: take, receive
6fBev: from &éopat, lack

41. dkoVw can take both the genitive and the accusative. Make the object of dkouw accusative.
A. téttiyov B. téttya C. pwvijv D. autijv

42. What tense and mood is énetépneto in line 1?
A. present subjunctive B. aorist subjunctive
C. imperfect indicative D. aorist indicative

43. Translate ti¢ &pa oUtw YAUKETlav ool TpEdeL TV dwvny;
A. What sweet voice you have developed in this way!
B. What develops your sweet voice in this way?
C. How do you develop your sweet voice in this way?
D. Did you yourself develop your sweet voice in this way?

44. What tense and mood is avtépnoev?
A. imperfect indicative B. present subjunctive
C. aorist indicative D. aorist subjunctive
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45. Translate pébodov supnkéval.
A. to have discovered a method B. to travel a backroad
C. to speak methodically D. to sing a melody

46. oxoln is the aorist optative of what verb?
A. olda B. ylyvwokw C. ayw D. &xw

47. What type of phrase is fj ¢un tpodn anp €otL kat 6pd00g?
A. ellipsis of the copula B. attributive apposition

C. predicate substantive D. explanatory apposition

48. What type of dative is @ Aipu@®?
A. agent B. means C. manner D. time

49. What is the moral of the story?

A. It is not necessary for natural things to become similar to other natural things, as only the

foolish attempt the impossible.

B. It is necessary for whatever is innate to not become like that which is beyond their nature

and senselessly attempt the impossible.

C. Itis necessary for what is natural to assimilate things beyond its nature and reach for the

impossible.

D. It is necessary for natural things to not become similar to other natural things, for only the

foolish attempt the impossible.

50. Why are é¢opololv and ényeipelv infinitives?
A. They are absolute infinitives. B. They are articular infinitives.
C. They are infinitives of result. D. 6€l takes the infinitive.



